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  EN4VP6M 

  ‚¥∑§Á‹Ã ¬⁄UËˇÊÊ -I(2015-16) 

SUMMATIVE ASSESSMENT – I (2015-16) 

‚Ê◊ÊÁ¡∑§ ÁflôÊÊŸ/SOCIAL SCIENCE  

∑§ˇÊÊ - X/ Class – X  
 

ÁŸœÊ¸Á⁄UÃ ‚◊ÿ — 3 ÉÊá≈     U•Áœ∑§Ã◊ •¥∑§ — 90 

Time allowed : 3 hours    Maximum Marks : 90 

 
‚Ê◊Êãÿ ÁŸŒ̧‡Ê — 
(i) ß‚ ¬˝‡Ÿ ¬òÊ ◊¥ ∑È§‹ 30 ¬˝‡Ÿ „Ò¥–  ¬˝àÿ∑§ ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò– 

(ii) ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ ‚Ê◊Ÿ ©‚∑§ •¥∑§ Á‹π „È∞ „Ò¥– 

(iii) ¬˝‡Ÿ ∑˝§◊Ê¥∑§ 1 ‚ 8 Ã∑§ ∑§ ¬˝‡Ÿ ∞∑§-∞∑§ •¥∑§ ∑§ „Ò¥–  ßŸ∑§ ©ûÊ⁄U ∞∑§ ‡ÊéŒ •ÕflÊ ∞∑§ flÊÄÿ ◊¥ Œ¥– 

(iv) ¬˝‡Ÿ ∑˝§◊Ê¥∑§ 9 ‚ 21 Ã∑§ ¬˝àÿ∑§ ¬˝‡Ÿ 3 •¥∑§ ∑§Ê „Ò–  ßŸ◊¥ ‚ ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©ûÊ⁄U 80 ‡ÊéŒÊ¥ ‚ •Áœ∑§ 
Ÿ„Ë¥ „ÊŸÊ øÊÁ„∞– 

(v) ¬˝‡Ÿ ∑˝§◊Ê¥∑§ 22 ‚ 29 Ã∑§ ¬˝àÿ∑§ ¬˝‡Ÿ 5 •¥∑§ ∑§Ê „Ò–  ßŸ◊¥ ‚ ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©ûÊ⁄U 120 ‡ÊéŒÊ¥ ‚ •Áœ∑§ 
Ÿ„Ë¥ „ÊŸÊ øÊÁ„∞– 

(vi) ¬˝‡Ÿ ∑˝§◊Ê¥∑§ 30, Hkwxksy ls ◊ÊŸÁøòÊ ‚ï’ãœË, 3 vad ∑§Ê ¬˝‡Ÿ gS– ©ûÊ⁄U Á‹πŸ ∑§ ’ÊŒ ◊ÊŸÁøòÊ ∑§Ê •¬ŸË 
©ûÊ⁄U ¬ÈÁSÃ∑§Ê ∑§ •ãŒ⁄U ⁄Uπ∑§⁄U ’Ê¥œ ŒËÁ¡∞– 

General Instructions : 

(i) The question paper has 30 questions in all.  All questions are compulsory. 
(ii) Marks are indicated against each question. 
(iii) Questions from serial number 1 to 8 are very short answer type questions. Each 

question carries one mark. 
(iv) Questions from serial number 9 to 21 are 3 marks questions. Answer of these 

questions should not exceed 80 words each. 
(v) Questions from serial number 22 to 29 are 5 marks questions. Answer of these 

questions should not exceed 120 words each. 
(vi) Question number 30 is map question of 3 marks from Geography. After 

completion, attach the map inside your answer book. 
 

 

 1 •∆UÊ⁄U„flË¥ ‚ŒË ∑§ •ãÃ Ã∑§ ÿÍ⁄UÊ¬ ◊¥ ¬Ê∆U∑§Ê¥ ∑§Ë ‚¥ïÿÊ ’…∏Ÿ ∑§Ê ∞∑§ ∑§Ê⁄UáÊ Á‹Áπ∞– 

Give one reason for increase in reading public by the end of eighteenth century in Europe.  
 

1 

  •ÕflÊ / OR 

 

 

  “„Ê«¸U ≈UÊßï‚” ŸÊ◊∑§ ©¬ãÿÊ‚ ∑§Ê ‹π∑§ ∑§ÊÒŸ ÕÊ? 

Who was the writer of the novel ‘Hard Times’ ? 

1 
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 2 ◊ÎŒÊ ÁŸ◊Ê¸áÊ ∑§ Á‹∞ ©ûÊ⁄UŒÊÿË ¬˝Á∑˝§ÿÊ ∑§ÊÒŸ-‚Ë „Ò? 

Which process is responsible for the formation of soil ? 

 

1 

 3 ÷Ê⁄UÃ ∑§ „⁄U ⁄UÊíÿ ◊¥ ¬¥øÊÿÃ •ÊÒ⁄U Ÿª⁄U¬ÊÁ‹∑§Ê øÈŸÊfl ∑§⁄UÊŸ ∑§ Á‹∞ ‚ÎÁ¡Ã SflÃ¥òÊ ‚¥SÕÊ ∑§Ê ŸÊ◊ Á‹Áπ∞– 

Name the independent institution that has been created in each State to conduct panchayat 

and municipal elections in India. 

 

1 

 4 1970 ‚ 1993 ∑§ ’Ëø, ’ÁÀ¡ÿ◊ ∑§ ‚¥ÁflœÊŸ ∑§Ê øÊ⁄U ’Ê⁄U ÄÿÊ¥ ‚¥‡ÊÊÁœÃ Á∑§ÿÊ ªÿÊ? 

Why was the Constitution of Belgium amended four times between 1970 and 1993 ? 

 

1 

 5 ‚◊ÊŸ ◊¡ŒÍ⁄UË •ÁœÁŸÿ◊ ∑§ ◊Èïÿ ¬˝ÊflœÊŸ ∑§Ê Á‹Áπ∞– 

Write main provision of Equal Wages Act. 

 

1 

 6 •Êÿ ∑§ •ÁÃÁ⁄UÄÃ ‹ÊªÊ¥ ∑§ flÎÁh ∞fl¥ Áfl∑§Ê‚ ∑§ Á‹∞ ŒÊ •ãÿ øË¡¥ ÄÿÊ „Ê ‚∑§ÃË „Ò¥? 

Apart from income, which other two things do people look for growth and development ?  

 

1 

 7 •ÊÁÕ¸∑§ ˇÊòÊ∑§Ê¥ ∑§Ê ‚Êfl¸¡ÁŸ∑§ •ÊÒ⁄U ÁŸ¡Ë ˇÊòÊ∑§Ê¥ ◊¥ flªË¸∑Î§Ã ∑§⁄UŸ ∑§ •ÊœÊ⁄U ∑§Ê ©À‹π ∑§ËÁ¡∞– 

State the basis on which are the sectors of economy classified into public and private ? 

 

1 

 8 2004 ◊¥ ÷Ê⁄UÃ Á∑§‚ •Êÿ √Êª¸ ∑§ •¥Ãª¸Ã •ÊÃÊ ÕÊ?   

In 2004, India came in the category of which income group ? 

 

1 

 9 ““¬˝Õ◊ Áfl‡flÿÈh ∑§ ’ÊŒ •◊⁄UË∑§Ë •Õ¸√ÿflSÕÊ •ãÃ⁄UÊ¸c≈˛UËÿ ∑§$¡¸ŒÊÃÊ ’Ÿ ªß¸–”” ÿ„ ∑Ò§‚ ÉÊÁ≈UÃ „È•Ê? S¬c≈U 

∑§ËÁ¡∞– 

 “After the First World War, the US economy became an international creditor”. How did this 

happen ? Explain. 

 

3 

  •ÕflÊ / OR  
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  •∆UÊ⁄U„flË¥ ‚ŒË ◊¥ ÷Ê⁄UÃËÿ ’ÈŸ∑§⁄UÊ¥ ∑§Ë Á∑§ã„Ë¥ ÃËŸ ¬˝◊Èπ ‚◊SÿÊ•Ê¥ ∑§Ê ©¡Êª⁄U ∑§ËÁ¡∞–  

Highlight any three major problems of Indians weavers in the 18th century. 

 

3 

  •ÕflÊ / OR 

 

 

  19 flË¥ ‚ŒË ◊¥ ‹¥ŒŸ ∑§Ë ‚»§Êß¸ „ÃÈ ©∆U∞ ª∞ Á∑§ã„Ë¥ ÃËŸ ∑§Œ◊Ê¥ ∑§Ë √ÿÊïÿÊ ∑§ËÁ¡∞– 

Explain any three steps taken to clean up London in the 19th century. 

 

3 

 10 •ãÃ⁄UÊ¸c≈˛UËÿ ◊ÈŒ˝Ê ∑§Ê· ∞fl¥ Áfl‡fl ’Ò¥∑§ Ÿ •¬ŸÊ äÿÊŸ Áfl∑§Ê‚‡ÊË‹ Œ‡ÊÊ¥ ¬⁄U ÄÿÊ¥ ŒŸ ‹ªÊ ÕÊ?  ∑§Ê⁄UáÊ ŒËÁ¡∞– 

Why did the International Monetary Fund (IMF) and the World Bank shift their attention to 
the developing countries ?  Give reasons.  
 

3 

  •ÕflÊ / OR 

 

 

  ©ãŸË‚flË¥ ‚ŒË ∑§ ©ûÊ⁄UÊœ¸ ◊¥ ÷Ê⁄UÃ ◊¥ ©lÊªÊ¥ ∑§Ê Áfl∑§Ê‚ Á∑§‚ ¬˝∑§Ê⁄U „È•Ê?  S¬c≈U ∑§ËÁ¡∞–  
How did industries develop in India in the second half of the nineteenth century ?  Explain.   
 

3 

  •ÕflÊ / OR 

 

 

  19 flË¥ ‚ŒË ◊¥ ’ï’ß¸ ¡Ê ∑§⁄U ’‚Ÿ flÊ‹ ‹ÊªÊ¥ ∑§Ë Á∑§ã„Ë¥ ÃËŸ ¬˝◊Èπ ‚◊SÿÊ•Ê¥ ∑§Ë √ÿÊïÿÊ ∑§ËÁ¡∞– 

Explain any three major problems faced by people who migrated to Bombay  during 

nineteenth century. 

 

3 

 11 ““©ãŸË‚flË¥ ‚ŒË ◊¥ øËŸ ◊¥ ¬…∏Ÿ ∑§Ë ŸÿË ‚¥S∑Î§ÁÃ ∞∑§ ŸÿË Ã∑§ŸË∑§ ∑§ ‚ÊÕ •Êß¸–”” ÃËŸ Á’ãŒÈ•Ê¥ ◊¥ S¬c≈U ∑§ËÁ¡∞–  

'New reading culture in nineteenth century China was accompanied by a new technology'.  

Elucidate in three points.  

 

3 

  •ÕflÊ / OR 

 

 

  ‹ÊªÊ¥ ∑§Ê ∞∑§ •ÊŒ‡Ê¸ ¬ÊòÊ ’ŸŸ ◊¥ ©¬ãÿÊ‚Ê¥ Ÿ Á∑§‚ ¬˝∑§Ê⁄U ‚„ÊÿÃÊ ¬˝ŒÊŸ ∑§Ë? 3 
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In what ways did novels help to give the people a vision of being ideal characters ? 

 

 12 ß¸S≈U-ßÁá«UÿÊ ∑§ï¬ŸË ∑§ •œËŸ •ÊÒ¬ÁŸflÁ‡Ê∑§ ŸËÁÃÿÊ¥ ∑§Ê fláÊŸ̧ ∑§ËÁ¡∞– 

Describe the policies of the colonial state towards print culture under East India Company. 

 

3 

  •ÕflÊ / OR 

 

 

  ¬⁄UËˇÊÊ-ªÈL§ ŸÊ◊∑§ ©¬ãÿÊ‚ Á∑§‚Ÿ Á‹πÊ?  ß‚ ∑§Ë Á∑§ã„Ë¥ ŒÊ Áfl‡Ê·ÃÊ•Ê¥ ∑§Ë √ÿÊïÿÊ ∑§ËÁ¡∞– 

Who wrote the novel ‘Pariksha Guru’ ?  Explain any two features of it. 

 

3 

 13 ÷Ê⁄UÃ ◊¥ ’„È©g‡ÊËÿ ŸŒË ÉÊÊ≈UË ¬Á⁄UÿÊ¡ŸÊ•Ê¥ ∑§ Áfl⁄UÊœ ∑§ ¬Á⁄UáÊÊ◊SflM§¬ ©à¬ÛÊ Ÿÿ ‚Ê◊ÊÁ¡∑§ •Ê¥ŒÊ‹ŸÊ¥ ∑§Ê ©À‹π 
∑§ËÁ¡∞– ©ã„Ê¥Ÿ ßŸ ¬Á⁄UÿÊ¡ŸÊ•Ê¥ ∑§Ê Áfl⁄UÊœ ÄÿÊ¥ Á∑§ÿÊ? 

Mention the new social movements that have been a result of opposition to multipurpose 
river projects in India. Why did they oppose these projects ? 

 

3 

 14 ◊ÊŸfl ªÁÃÁflÁœÿÊ¥ ∑§ ∑§Ê⁄UáÊ ÷Ê⁄UÃ ∑§Ê ¡ÒflÁflÁflœÃÊ ◊¥ ∑§◊Ë ∑§ Á‹∞ ©ûÊ⁄UŒÊÿË ∑§Ê⁄UáÊÊ¥ ∑§Ê Áfl‡‹·áÊ ∑§ËÁ¡∞– 

Analyse the reasons for the decline in India’s bio-diversity due to human activities. 

 

3 

 15 ÷Ê⁄UÃ ∑§Ë ¬˝œÊŸ πÊlÊãŸ »§‚‹ ∑§ÊÒŸ‚Ë „Ò ?  ß‚ »§‚‹ ∑§Ë ©¬¡ ∑§ Á‹∞ •Êfl‡ÿ∑§ Œ‡ÊÊ•Ê¥ ∑§Ë √ÿÊïÿÊ ∑§ËÁ¡∞– 

Which is the staple food crop of India?  Explain the growing conditions required for the same. 

 

3 

 16 सामािजक िवभाजन को रोकने के िलए कोई दो उपाय सुझाइये । 

Suggest any two measures to check the social divisions. 

 

3 

 17 ’ÁÀ¡ÿ◊ •ÊÒ⁄U üÊË‹¥∑§Ê mÊ⁄UÊ SflË∑Î§Ã ‚Ê¤ÊŒÊ⁄UË ∑§ ◊ÊÚ«U‹Ê¥ ∑§ ’Ëø Á∑§ã„Ë¥ ŒÊ ◊„ûfl¬ÍáÊ¸ •ãÃ⁄UÊ¥ ∑§Ê S¬C ∑§ËÁ¡∞–  

Explain any two important differences between the power sharing model accepted by 

Belgium and Sri Lanka.  

 

3 

 18 ÷Ê⁄UÃ ◊¥ ¬˝øÁ‹Ã ¡ÊÁÃ √ÿflSÕÊ ∑§Ë Á∑§ã„Ë¥ ÃËŸ Áfl‡Ê·ÃÊ•Ê¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞– 3 
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Describe any three features of the caste system prevailing in India. 

 

 19 ‚¥‚ÊœŸÊ¥ ∑§Ë œÊ⁄UáÊËÿÃÊ Áfl∑§Ê‚ ◊¥ ∑Ò§‚ ‚„ÿÊª ∑§⁄UÃË „Ò? S¬c≈U ∑§ËÁ¡ÿ– 

How does sustainability of resources help in development ? Explain. 

 

3 

 20 •‚¥ªÁ∆UÃ ˇÊòÊ∑§ ◊¥ ◊$¡ŒÍ⁄UÊ¥ ∑§ ‚¥⁄UˇÊáÊ ∑§Ë ÃÈ⁄UãÃ •Êfl‡ÿ∑§ÃÊ ÄÿÊ¥ „Ò? S¬C ∑§ËÁ¡∞–  

Why is there an urgent need to protect workers in the unorganised sector ? Explain. 

 

3 

 21 ÄÿÊ •Ê¬ ‚„◊Ã „Ò¥ Á∑§ •ÊÁÕ¸∑§ ªÁÃÁflÁœÿÊ¥ ∑§Ê ¬˝ÊÕÁ◊∑§, ÁmÃËÿ∑§ •ÊÒ⁄U ÃÎÃËÿ∑§ ˇÊòÊÊ¥ ◊¥ flªË¸∑§⁄UáÊ ©¬ÿÊªË „Ò? 

•¬Ÿ ©ûÊ⁄U ∑§Ë ¬ÈÁc≈U ©¬ÿÈÄÃ Ã∑¸§ Œ∑§⁄U ∑§ËÁ¡∞–  

Do you agree that classification of economic activities into primary, secondary and tertiary is 

useful?  Justify your answer by giving valid arguments.   

 

3 

 22 ““•ŸÈ’ÁãœÃ ◊$¡ŒÍ⁄U 19 flË¥ ‚ŒË ∑§ Áfl‡fl ∑§Ë ŒÊ„⁄UË ¬˝∑Î§ÁÃ ∑§Ê Œ‡ÊÊ¸Ã „Ò¥,”” ∑§ÕŸ ∑§Ë ¬ÎÁc≈U ∑§ËÁ¡∞– 

 “The indentured labour illustrates the two sided nature of the 19th century world”. Justify the 

statement. 

 

5 

  •ÕflÊ / OR 

 

 

  ’Ë‚flË¥ ‚ŒË ∑§ ¬˝Ê⁄UÁï÷∑§ ÷Êª ◊¥ Œ‡Ê ◊¥ ¿UÊ≈U ¬Ò◊ÊŸ ∑§ ©lÊªÊ¥ Ÿ Á∑§‚ ¬˝∑§Ê⁄U ¬Ífl¸ •ÊÁœ¬àÿ ¡◊Ê ⁄UπÊ ÕÊ?  S¬c≈U 
∑§ËÁ¡∞– 

How did small scale industries predominate in earlier part of twentieth century in the country 
? Explain.  
 

5 

  •ÕflÊ / OR 

 

 

  19 flË¥ •ÊÒ⁄U 20 flË¥ ‚ŒË ∑§ ŒÊÒ⁄UÊŸ ‹ãŒŸ ◊¥ ◊Á„‹Ê•Ê¥ ∑§ Á‹∞ ©¬‹éœ ∑§Ê◊ ◊¥ •Ê∞ •ãÃ⁄UÊ¥ ∑§Ë √ÿÊïÿÊ ∑§ËÁ¡∞– 
Explain the changes in the work available to women in London during 19th and 20th century. 
 

5 

 23 »˝§Ê¥‚Ë‚Ë ∑˝§ÊÁãÃ ‹ÊŸ ◊¥ ◊ÈŒ˝áÊ ‚¥S∑Î§ÁÃ ∑§Ë ÷ÍÁ◊∑§Ê ©ŒÊ„⁄UáÊ Œ∑§⁄U S¬c≈U ∑§ËÁ¡∞– 

Explain with examples the role of print culture in the bringing of French Revolution. 

5 
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  •ÕflÊ / OR 

 

 

  flÒ∑§Ê◊ ◊Ê„ï◊Œ ’‡ÊË⁄U ∑§ÊÒŸ ÕÊ?  ©‚ ∑§Ë •Áœ∑§Ã⁄U ⁄UøŸÊ∞¥ Á∑§‚ ¬˝∑§Ê⁄U ©‚∑§ •¬Ÿ ◊ÍÀÿflÊŸ •ŸÈ÷fl ¬⁄U •ÊœÊÁ⁄UÃ 

ÕË¥?  S¬c≈U ∑§ËÁ¡∞– 

Who was Vaikkom Muhammad Basheer ?  How were most of his works based on his own 

rich personal experience ?  Explain. 

 

5 

 24 Define the term resource. Classify resources on the basis of status of development. Write the 
main characteristic of each. 

“‚¥‚ÊœŸ” ‡ÊéŒ ∑§Ë ¬Á⁄U÷Ê·Ê ŒËÁ¡∞– Áfl∑§Ê‚ ∑§ SÃ⁄U ∑§ •ÊœÊ⁄U ¬⁄U ‚¥‚ÊœŸÊ¥ ∑§Ê flªË¸∑§⁄UáÊ ∑§ËÁ¡∞– ¬˝àÿ∑§ ∑§Ë ◊Èïÿ 
Áfl‡Ê·ÃÊ Á‹Áπ∞– 

 

5 

 25 ◊ÎŒÊ ‚¥⁄UˇÊáÊ ∑§ Á‹∞ ©∆UÊ∞ ¡Ê ‚∑§Ÿ flÊ‹ ∑§Œ◊Ê¥ ∑§Ê S¬c≈U ∑§ËÁ¡∞– 

Explain the ways in which soil can be conserved. 

 

5 

 26 √ÿÊïÿÊ ∑§ËÁ¡∞ Á∑§, 1968 ∑§ •Ê‹Áï¬∑§ ◊¥ •◊Á⁄U∑§Ë ∞ÕÁ‹≈UÊ¥ Ÿ ŸS‹flÊŒ ∑§ Áπ‹Ê»§ Á∑§‚ ¬˝∑§Ê⁄U •¬ŸÊ Áfl⁄UÊœ Œ¡¸ 

Á∑§ÿÊ? 

How do American athletes show their anger towards racism in 1968 Olympics ? 

 

5 

 27 ÁflœÊÿË ‡ÊÁQ§ÿÊ¥ ∑§Ê ‚¥ÉÊËÿ ‚⁄U∑§Ê⁄U •ÊÒ⁄U ⁄UÊíÿ ‚⁄U∑§Ê⁄UÊ¥ ∑§ ’Ëø Á∑§‚ ¬˝∑§Ê⁄U Áfl÷ÊÁ¡Ã Á∑§ÿÊ ªÿÊ „Ò? ©ŒÊ„⁄UáÊ Œ∑§⁄U 

S¬C ∑§ËÁ¡∞– 

How are legislative powers divided between Union Government and State Governments ? 

Explain with examples. 

 

5 

 28 Áfl∑§Ê‚ Á∑§‚ ∑§„Ã „Ò¥? •‹ª-•‹ª ‹ÊªÊ¥ ∑§ Áfl∑§Ê‚ ‹ˇÿ •‹ª-•‹ª ÄÿÊ¥ „ÊÃ „Ò¥? øÊ⁄U ©ŒÊ„⁄UáÊ Œ∑§⁄U S¬C 

∑§ËÁ¡∞– 

What is development ? Why do different people have different developmental goals ? Explain 

with four examples. 

 

5 
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 29 ‚∑§‹ ÉÊ⁄U‹Í ©à¬ÊŒ ‚ ÄÿÊ •Á÷¬˝Êÿ „Ò? ‚∑§‹ ÉÊ⁄U‹Í ©à¬ÊŒ ∑§Ë ªáÊŸÊ ∑§Ë ¬˝Á∑˝§ÿÊ S¬c≈U ∑§ËÁ¡∞– 

What is meant by Gross Domestic Product?  Explain the process to calculate the gross 

domestic product. 

 

5 

 30 (a) ÁŒ∞ „È∞ ÷Ê⁄UÃ ∑§ ⁄UÊ¡ŸËÁÃ∑§ ⁄UπÊ◊ÊŸÁøòÊ ◊¥ A ¬⁄U ∞∑§ ‹ˇÊáÊ ÁøÁqÃ Á∑§ÿÊ ªÿÊ „Ò–  ŸËø ŒË ªÿË ¡ÊŸ∑§Ê⁄UË 
∑§ •ÊœÊ⁄U ¬⁄U ß‚ ‹ˇÊáÊ ∑§Ë ¬„øÊŸ ∑§⁄U ◊ÊŸÁøòÊ ◊¥ „Ë ÁøÁqÃ ⁄UπÊ ¬⁄U ©‚∑§Ê ŸÊ◊ Á‹Áπ∞ —  

 (A) flŸÊ¥ ∑§ ¬˝∑§Ê⁄U 

(b) ©‚Ë ◊ÊŸÁøòÊ ¬⁄U ÁŸïŸÁ‹ÁπÃ ∑§Ê ©¬ÿÈÄÃ ‚¥∑§ÃÊ¥ mÊ⁄UÊ Œ‡ÊÊ¸ß¸ÿ ∞fl¥ ©Ÿ∑§ ŸÊ◊ Á‹Áπ∞ —  

 (B) ◊ÊŸ‚ ’ÊÉÊ Á⁄U$¡fl¸  (C) Á≈U„⁄UË ’Ê°œ  

ŸÊ≈U — ÁŸïŸÁ‹ÁπÃ ¬˝‡Ÿ ∑§fl‹ ŒÎÁC’ÊÁœÃ ¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ „Ò¥ — 

 (30.1) ¬Á‡ø◊ ’¥ªÊ‹ ◊¥ Á∑§‚ ¬˝∑§Ê⁄U ∑§ flŸ ¬Êÿ ¡ÊÃ „Ò¥? 

 (30.2) ◊ÊŸ‚ ’ÊÉÊ Á⁄U¡fl¸ Á∑§‚ ⁄UÊíÿ ◊¥ •flÁSÕÃ „Ò? 

 (30.3) Á≈U„⁄UË ’Ê°œ Á∑§‚ ⁄UÊíÿ ◊¥ •flÁSÕÃ „Ò? 

(a) One item A is shown in the given political  outline map of India. Identify this item 
with the help of following information and write its correct name on the line marked 
on the map.  

 (A) Type of forests 

(b) On the same political outline map of India, locate and label the following items with 
appropriate symbols 

 (B) Manas Tiger Reserve  

 (C) Tehri Dam 

Note : The following questions are for the visually impaired Candidates only. 

 (30.1) What type of forests are found in West Bengal ? 

 (30.2) In which state is Manas Tiger Reserve located ? 

 (30.3) In which state is Tehri dam located ? 
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